BT TRIA O - HEHHEE X T 3;5217&09)% KIRHE
BT T 4 =2 = = %
X 54,275 61,091 64,137
=z 608 756 764
REFZHT 1,622 1,914 1,875
FEET 193 233 185
FE T 1,071 1,184 1,211
MR 1,313 1,356 1,517
NG 242 280 238
FRET 1,775 1,949 2,095
AE 767 920 964
itz 1,762 1,995 2,122
Fazsdt 2,110 2,612 2,684
TIEET 2,745 3,476 3,687
i 618 766 757
TERET1T 812 885 883
TERET2T 801 927 956
TERET3T 893 1,116 1,170
TERET4AT 481 581 571
TERETS T 558 710 670
3,545 4219 4,250
J\E=FHT 808 923 979
J\EILHT 2,190 2,547 2,646
J\EHPFEET1T 5 5 3
J\BTET2T 1,239 1,178 1,362
J\BTET3T 534 553 563
1,778 1,736 1,928
J\EB R ZHT 451 359 416
®/\H 521 571 588
B 2,291 2,695 2,761
EH 1,171 1,391 1,392
EFALET 2,298 2,512 2,753
EFIRET 1,694 1,628 1,742
EHIFKHET 2,645 2,825 2,900
R R HET 3,575 3,993 4,134
R LT 1,190 1,451 1,513
PRI RHET 1,177 1,346 1,386
EH K ET 1,444 1,591 1,602
RBR 18 15 4
ER1T 524 611 637
ER2T 485 571 591
ER3T 273 344 392
ER4AT 484 607 600
ERST 238 275 281
ER6T 434 514 498
2,456 2,937 3,003
1=H 5,457 6,382 6,747
RE 717 717 817
¥& _EHT 1,536 1,775 1,815
RErL 334 353 387
= [RET 2,171 1,699 2,279
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